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He exempts his money with the money of the 377>

OVERVIEW

7°117 27 cited a Xn»72 to support 727 who maintains that 10X 7°X°X72 372 1DPN
17°%. According to n19oIN this proof is conclusive and we rule that XX 3"n
17°n 10X, Similarly in other cases there can be no seizing from the original
owner in a case of p20. Our M0 however qualifies this ruling.

— 3133 PROYIN )N NOPN BNRT 'NIPOM NN 19
And this is conclusive, that if the 3775 seized it we take it away from him.

nooIN asks:
- (9ax 17’7 OV NP 97 NINa Xa3) V1D 122 P9I (0w 3,3 97 10pY) HYNIWN 799237 "IN

This is astounding! For in »X%w:7 92 and in 712 N2 pAp, the X states -
— Y1NN Y8NIND XA2 IPI9NT NN PININDY I PYNAm 99w THN 23)

Regarding one who rented a bathhouse, where 2812w established that
the ruling of y>vm> that was given is when the owner came in middle of
the extra month -

- 5591w 1999 W1NN 9103 N33 Yax
However if the owner came at the end of the extra month to collect the rent,
it belongs entirely to the tenant and he is not obligated to pay for the thirteenth

month. MdoIN asks how can 58w rule like this —
— %y PRONINT XN PIOM R

"'t should be noted that the 2"2»7 maintains 172 1M PRI PR 2"N (see R M here).

% The reason for this is that the Y% is considered the owner. The cow with the fetus of the 712 790
certainly belonged to the owner before birth (a 7152 belongs to the 37> only after it leaves the womb),
therefore if the 175 cannot prove that it is a 7122 we leave it by the original pr; the Xnp X, We derive
from this that whenever there is a pod (and a p"n), there can be no 110°9n; we award the item in question to
the original owner. This forms the basis for n1v01n following questions.

? The case there is regarding a bathhouse which was rented at the price of twelve 231°7 per year, a 737 per
month, and it turned out to be leap year (thirteen months), the question is whether the tenant is required to
pay for the extra month (since the agreement was for a 71°7 per month) or not (since the agreement also
stated twelve 07 per year). The ruling was that }»171; the tenant pays for half a month (since there is a
790 as to the understanding of the agreement which is somewhat contradictory).

* The 7997 is not like »Xmw (but rather that N7y 752 NP2 ¥PIp), nevertheless Moo asks how will YxMw
reconcile his ruling with the Xn>72 of nP°507 which proves that 172 1N PROXA.

> Similarly if the owner came in the beginning of the extra month the tenant must pay for the entire month.

% The bathhouse belongs to the owner. The tenant would be required to pay for the extra month if the owner
came in the beginning of the month (see footnote # 5). The reason he does not pay now is because it is
considered as if he ‘seized’ the (doubtful) last month’s rent; however we have concluded that when there is
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For we concluded here that we take it away from him?!

N1B0IN answers:
— D291 X93NN 795 1PNA D393 ONNT MY YN

And one can say; that there by the ynn, the tenant entered into the yrnn

with permission, therefore his seizing is effective -
— P02 ON 5 VAN NN XY NON YaN

However here by the 7123, the 175 did not seize the 7152 with permission,

rather only based on the 29, therefore in such an instance the ruling is that PX°%m
179 NN,

mooIn responds to an additional anticipated difficulty:
— OPINY NN M7 OWI R, 97 DIINIT /2 P92 1P9INRT R

And that which the X 1) states in the second P2 of M2WN> regarding the
Xn>72 which states -
— S9N PN D19 997 BDNIN 19X D29NN INIY YVYN DY DIMNNN DY

Two witnesses who are signed on a "vw and other witnesses came and
testified that the witnesses on the "vw were forced to sign it, etc. the ruling

is that the latter witnesses are not believed -
— 1599 NPINA NINN SPINY 399 5112 399 SPINT 7501)

And the X723 concluded there that the ruling in this case is that we place
the two witnesses of the “quw against the two witnesses who claimed 2°01KX
17, and the money of the loan which is allegedly owed is placed in the
possession of its owner (the M~ is not required to pay, since it is a Po0).

The apparent difficulty is that the Xn>12 states 7°3aR1 X, indicating that it is a valid 0w
and the m>n can collect, but the X123 concluded that 77 NP2 X1 PIX; that the Mo
cannot collect. This issue is addressed there by *"w".

— 1193919 19991 XY MINN VON ONY Ysryag 9INPT 123IN) PN

And >"w9 explained that when the Xn»72 states that ‘they are not

a known owner, seizing is meaningless (in a doubtful situation), therefore he should have to pay the full
rent regardless of when the owner came. See ‘Thinking it over’ # 1.

7 When the thirteenth month arrived the tenant was legally in possession of the house. He merely extended
his rights due to the poo.

¥ The 21 70w was authenticated by two witnesses who recognized the signatures. Two other witnesses
claimed that the 2>7¥ who signed the 7w were threatened that they would be killed if they did not sign
(causing the 7w to be invalid).

A o™pn Tww is considered a valid quw. We do not suspect that anything illegal happened (such as they
were forced or they were minors etc.). Therefore it is considered as if there are two 0°7v that the 0ws >7¥
were not 0°01X opposing the 2>7¥ who claim they were D°01R.

195591 77 8,9 M3, See “Thinking it over’ # 2.
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believed’ this means that if the 1% seized the assets of the Mm%, we do not

take it away from the m>n. It is to that extent only that the latter M17¥ are not believed
and the m%n» keeps the money based on the “vw.

mooIn qualifies this *"w15 based on what was said previously that 79°5n does not help to
be X°x1 from the prmn by a poo. Therefore -
— PODN 1HNY DNIP 1NT VYN DIDAY DITY INIY DN DINY M0 TN

It is necessary to say that the Mm% seized the assets of the Mm% before the
latter witnesses came to disqualify the "uvw, meaning that the seizing was
done before the P20 was created, therefore it is a valid fo°on.

Mmoo offers an alternate explanation of the term 181 7°X which the Xn>>972 states:
$ D291 PIYY XYY 1192 199230 XD Basy 159997913 NDT 193N PNT 9120 YW )

And in addition one can say that 1281 1°8 means that we do not tear up
the "vw, however we cannot collect with it either, but 11Xl X is not
regarding seizing, for seizing po0n 7911w XY is ineffective.

SUMMARY
170’01 is not effective unless it was done 0772 or PO T2UW 2TIP.

THINKING IT OVER

1. oo asks how can 2R rule by the yr7n that 191w 1913 since the ruling
is 77°n IMK RoxIn.'* Why cannot we distinguish that there since the owner
did not come for the rent the entire month, this indicates that he admitted
that he does not owe him for that month?!"

2. It seems that *"w" in *m2n> maintains that the 7o°sn there would be
effective even after ppon 771w, How can >"wn differentiate between 7122 po0
(where the 170°5n is ineffective) and the 50 of M " by the mY» (where it
18 effective)?15

! The advantage of 79 11y pn X (even though 7°2 11°23 X9) is that if later there are other 27y who testify
that the 077y who claimed 177 0°01R were themselves M7y *709, then the m17» will be able to collect with
this quw (but not if it was torn up). Alternately the m? may not be comfortable knowing that there is a 0w
against him and he may be willing to pay something to the %2 in order to destroy the 0w.

12 See footnote # 6.

" See 7"nx # 104.

1 See footnote # 10.

"% See n"ma and 7"nx # 110.
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